
Pregunta 1
No s'ha respost

encara

Puntuat sobre 2,00

 

 

En aquest esquema:

1. Té generador?  

2. Té conductors?  

3. Té receptor?  

4. És un cami tancat?   

5. És un circuit?   

En aquest esquema:

1. Té generador?  

2. Té conductors?  

3. Té receptor?  

4. És un cami tancat?   

5. És un circuit?   

 



En aquest esquema:

1. Té generador?  

2. Té conductors?  

3. Té receptor?  

4. És un cami tancat?   

5. És un circuit?   

En aquest esquema:

1. Té generador?  

2. Té conductors?  

3. Té receptors?  

4. És un cami tancat?   

5. És un circuit?   

 

En aquest esquema:

1. Té generador?  

2. Té conductors?  

3. Té receptor?  

4. És un cami tancat?   

5. És un circuit?   

En aquest esquema:

1. Té generador?  

2. Té conductors?  

3. Té receptor?  

4. És un cami tancat?   

5. És un circuit?   

 


